GEARHEAD
INPEZSIESPN
User’s manual

FErlAoAel MEZS sl
FMAM CHErS| ZARLCE

2 HMZ2 AZStAI7| Tof|
HIEA MEHEBME H 2
IS0l et K|, g T2l
FOlAre FHtof| el SX[sh =
HIE27 ALESI0 FHAIL.
giedl 2ol= AMEX Hog
& UAEE DY EEGHH
FHAL.

Thanks for using products of
DKM Motor Co., Ltd.

Before using please read this
user’s manual for the product
knowledge and information
about safety, handling with
care and correct using. Also
keep this user’s manual for
your reference at any time.






'
o N o ~ N

11-12
13-14

15
16

=Xt
Index

ol

=

I'

1. DRI
2. MiZQla Al SRIAFE
RPN =2 el Ny

4 MEZel =8 & X

5. HIEY 2fE0 242 Ed &=
6. A/S HRfeHH
English

1. Product Coding System

2. Check List of Product
Receiving

3. Caution Point in Operation

4. Installation of Products
and Assembly

5. Troubleshooting
6. Formalities of A/S



1. DEEET|

o
I

7|

n

gy

9PBK3¥ BH

/3 Gear Type

o2l Type H: Helical Gear
B: Ball Bearing
BM: Ball Bearing + Metal Bearing
M: Metal Bearing
24| (36:1/36)

X
v (Bt S3tAl 712 AlY)
pe

S S35 Type o

Frame Type (G,PH type gear 2)
F Flang

(AF2f BoxErl) [
ype (7HEr)

Gear Type
G: et|of (SIfEIBE: 100Kgiom)
P: Z247|0f (2|ch5{S=3: 200Kgfem)
H: Z21e487(0f (2ITH5/E 2: 300Kgfom)

x|zl

6 C60mm AfZt (2.36 in.sq) 6W)

7: O70mm AR2H2.76 in.sq) (6~15W)
& D80mm ARt (315 in.sq.) (15-25W)
9 0%0mm A2k (354 insq.) (40-200W)

EH.

IE A47| (BHS, 335)

w

™

.H)Il

Brand 22|
D:DKM (30:1/30)

i
& D80mm ARzt (3.15in.sq.) (15~25W)
o 090mm ARz, (354 in.sq.) (40~200W)

47|

9 X

E21d47| By
(X10 Inter-Decimal Gearhead)

RIS
8: 080mm Atz (3.15 in.sq.) (15~25W)
9: O90mm Atz (3.54 in.sq.) (40~200W)

3 B L

*HT 1 & YY - R Right
L Left
2. 2leio| 2EZYN
S35 WY
L Left
R: Right

EERdzass ol
i LR

H{of2 Type

Hzds

: ﬁﬂ;’:}‘ﬁ'
P: 29 7

=

sI90
™ opt PO
e e
0

il

o

.
\4\4

o
o
o
e
o
Ip
By

* et Paoigtes ohEol E 4 gl B U4 ERE F0is
U Ad|ot B BTGB ALSH FUMR. BTHUATIE
ArSsitiels HUiB8E = S715IX on ©X| 4= 0B 12
aUct



2. MIZ 215 Al 2IRIAH

o

2.1 MiZel ol
CHSO| 20| B 2HEO0U QU] &0l SHUAIR, RE0| 2X5H
AU IAE(0] U FR0I= FAILL HIZ TUHE 2f5i0]

ESSINI=R

27| (Gearhead) 1CH
2HE 2E L{E AZZIQIM 2t 47K
et A
(&=l 715 7120| 2= 2ol SOIUK] HSLICH)

AFSAHA (2 HX}) 1=

2.2 DEH Sl

1 REEREI| 5 Ex 3MI01 Telet MZel 2

S SIOISIA|T,

=2oc=

0| 0| UHAZIUS A SA| TR0 2250 F=A|7| HIZLICE
23 ZYUS EE XHE
AX[2H =4 HIE HE*Z0|(mm)
60mm 6GBD3MH~250MH 3~250 M4*60
Jomm 7GBD3BMH~18BMH 3~18 M5*50
7GBD25BMH~180BMH | 25~180 M5*60
8GBK3BMH~18BMH 3~18 M5*50
80mm | 8GBK25BMH~360BMH | 25~360 M5*60
8XDIOMDO 10 M5*90
9GBK2BMH~15BMH 2~15 M6*65
9GBK18BMH~180BMH 18~180 M6*80
9PBK2BH~180BH 2~180 M6*90
90mm 9PFK2BH~180BH 2~180 MB*25
9HBK3BH~180BH 3~180 M6*30
9HFK3BH~180BH 3~180 M6*30
9XDIOMO 10 M6*90, M6*120




3.1 AU
9| 2E7H0~40C, = 85% 01512 R0llA ARE5H0]
ESNINI=}
EARZMOIL =, 7IS0| B2 HAE L6t FHAIR.
TS, 540| At Ro|Lt T2 X, 21eky TtALL BA1Y
TtAZL EMEkE HaE TSt FHAIR.

3.2 Overhung K51} Thrust 51=

THRUST LOAD
-

GEAR GEAR
HEAD HEAD
OVERHUNG LOAD BELT

EEES)

UNIVERSAL
JOINT

512 Overhung 351t 512 Thrust SESH

G sl
Z|HSI8ES Overhung Thrust
st& 5

6GBDOMH 3~18 3 30 50 5 30 3
20~250 120 12

7GBD O BMH 3~18 5 50 80 8 40 4
25~180 150 15

8GBKOBMH 3~18 8 80 100 10 50 5
25~360 200 20

9GBKOBMH 2~18 10 100 250 25 100 10
25~180 300 30

9PBKOBH 2~9 20 200 400 40 150 15
OPFKOIBH 12.5~20 450 | 45
25~180 500 50

9HBKOBH 3~180 30 300 400 40 150 15

9HFKOBH

8WDOBL(R) 10~18 6 60 80 8 100 10
25~60 150 15

9WD OBL(R) 10~18 8 80 200 20 200 20
25~60 250 25

9WHDO 7.5~80 40 400 500* 50* 250 25




* S ERYQ| A2, 518 Overhung 3152 S2HX| MX|HOZHE{Q|
10mm X|E2| SRS LI

- &1& Overhung 3152 AFZE 2t ZOiMEE] 10mm X|IH2|
StEJLCE

- HE7 |7 Helical Gear, Worm Gear S8 AtE35He d0l=
Overhung F&1F SAI0f| Thrust 5K52| 512XI2 ZI5HX|
UZE ABSI FHAR.

- St EHZ0| 2 2512 A5 Ar8sts dR0lle HTt
StES Tsto AL 710 77| FatE FS5t0{0F Shict,
(3 3-1)at 20| Overhung 550 72 £ Q= 2x2
HRIsto] FHAIL.

3.3 #&7(9| Z[iSI8ES

d&719 EHEI= Z4H|(of HIISHKI2 7|019| [HE S 7|Ef
Z70l| 2lall Z=710fl DIX|= SIEEZ7 ergEl=d| 0l%E
Z|tHeI8E 320 50, Z|tHSIBEIE= HL7(9 27|19t
2440l w2t ZehEL ok

[Ib-in] | [N/m] | [kgfcm] 9HBKLIBH
2651 304 300 I 9HFKCIBH
21{ 254 250

l 9PBKIBH
o 20 4 200 9PFKCIBH
1324 154 150
wl 0l 1w 9GBKTB(M)H
/ 8GBKCB(M)H
| | / 7GBDCIB(M)H
a 5 50 —
ol ol 0
50 100 150 200 250



4. RiBo| £ Y 43|

41 ZEj2 247|0) FRwY

Box Type Flange Type
Gearhead Gearhead
OUTPUT SHAFT OUTPUT SHAFT
P
GEARHEAD GEARHEAD

H
m
Pl
in

m
i

o
Ho
tu
oo
Q'I_I
=

= Bt AEROIA, BEfO] 2l= o] QIEE
Wernl 2147 B4 Yol K7 IR MES SHIAIR.

2) DE|O| AFEE % 7/0fet 247 Lol 71017+ Z5pHl BiLE
SSIR|X| QTR ZATIS F.22 ZFU HTAT A A
EsH FHAIL.

3) BEfe} 2a7|of FE Alof
ESUNE-

= B4EC FEE 2EE MESHH

F0|) REjet A47|E Faloi 2oL 2470 24 oiH 52
O|ZZ0| S0{7I'H AFLE X[ZEL} 7|0{0]] 71A7} &SI
Old50| LHSIHLE +F0| BOIXl= S KoIX| 42 Atz
HOlo| Z|L| ZfEHS| ROI510] FHAI2,

J

42 x| Nl2| FelAfEt
Mo 2YES F0 RAEQ
M7IX| QU2 B} Z47|S M|
ZEo| ZBL0IS 25 317 915

AESH FHAL.

=

= 01835t0{ MX|Hoi| E0|
ESSINI=}
5mm O[5t FHe| Mx|Tte

EE W
A



4 MEZol =8 & X

= HE AHZE
Ax|zt =E 74 E S
60mm M4 2.0N.m (20kgfcm)
70mm M5 2.5N.m (25kgfcm)
80mm M5 2.5N.m (25kgfcm)
90mm M6 3.0N.m (30kgfcm)

- URTIe EEFE E 3Rt
h70|H, Key Typezt D—Cut
7+30| UA&LICL

- D—Cut 7132 Z<0il D—Cut
7+3R0l| f5t7t S| T5HK|

TRansmission AR EEE LSS0 EAlsHA|

COMPONENTS eyt < A1A |,

BOLTS FOR FIXING

© Key Type 71321 ZR0ll= M7 Mol Am22 Sof
Key B2 7I5510{ 245 KeyE AEot sl FHAI2.

BOLT .
TRANSWISSION . KeY $
COMPONENTS h——nlB
GEAR
7; L| HEAD
KEY, TRANSMISSION

COMPONENTS

Fo|) HL7| Foll T 7|17E LEAIZE W SAES TheiH 44719
njd, aE thEo| fol0] B2 ZIHs| FOISHYAIR.



5. HIE TS0l B9 B B2
DE| W P47t HYROR MK 9IS FRk= Oy BE
AT510] T FUAR. T FPt 2T HYIIE BT

DEp} 2 SSH| 212 P20l S2lshLt o £ A
S1R] OLALT, EIALL HIES 7 (elEoz ofetstol FEAIS.
AP} 2lof2 251Ut E23H510] MBS Alof LAyEt 2 xof
LA SHARS R240] Qo] Eot A/STH BTk 4 Yooz
ool Zolst0] FAAIL.

1) 2Eof Fr M| ZkelA ASHIN?
2) THelo| HEELt HiE A AZE(0]f

AEHI?
3) st7t HE ED(\ UEUI?
4) 24 ZHIN £ EFQOH 7IM=lof U=
229 ='E1U\17} ANE 2 HZ=of
U&LI7F?
O3t a2|7h SICt 1) REIQF A47IS Hi2A FRR-SUN?

=}
2) REIQt SYUSH XA AHLE Ete) 247
RGN
0|Af210| 3|M5tE &24=0| 1) ZE{7} Thermal Protector(TP) 2&HEIRIS
LURL7| Y30 HACL OrLImt?
2) HY7I7Ql Pulley S0| THEE|7ALE
HHo| ZalX| LUSLIN?
3) BE L= U&7|0 £Ho| ofEt A2
otgL7t? (=2 7tH21 FX)
4) EHF0| BX|K|= LUASLIN?
(2t {7t ak= st Overhung
3%(‘” 7}‘— 10| OIA|_||'_|>
3. ARBa FoME 2 EESHe
MHHEE 2E =8lLct)
5) ZE= 3|Mst=tl Z&717t &X5HK|
=0t 710171 YRS 750l
QUELICH (B AHEACHH 2579
SI8E3 O|YZ st 2&et
Zo= '33U4VIGIBER £
X510 MAES e =2}

= =&

N
iy




6. A/S XY

wy

1]
=S

I

i

Q riE 2
‘ 4
. =

gor
AlS Ha
A/S %2|
o ez
A/S 23

./ DKM EA}
4.9@@

=L ch2lH, siel chzlH

HDAHE: DKM2 EEl MIES A] AR w2t BAket =
AREXtS| THERIX| OfH MIZQ| HURIXIS TG F4wmet
E= RY AS HEE ZYstn JUsUCEL 7Y A/Se| FR0ll=
2H[XHOIA Dj2] A/STARE SEBE = A/S ERIE TIR-ELIC

CHE| =Ly
Zt X[ 2™ MEE 2oL S0 0| X| www.dkmmotor.comOi|A{
Sfolsta = UASLICE

* 72 XMiZe| CAD =TH0| HRsH 22 YAl EH0|X| 4 T OREE

SHAIZ| HELICE

HEQ M5 HHS floto] Al & 222 oA SE glo| HiEE -
ASLICE 7IEF RiASH 2OAEE2 AR A2E FAI7] bR

DKM Motor Co., Ltd.
SAY/SE: QTS M7 MEes 223-38 QIMH|A L0} LIS 45
(R 404-825) Tel. 032-574-7788 Fax. 032-578-7787



1. Product Coding System

Parallel Gearhead

9PBK3¥% BH

Input Gear Type
Bearing Type H: Helical Gear
B: Ball Bearing
BM: Ball Bearing + Metal Bearing
M: Metal Bearing
Gear Ratio (36 : 1/36)
Output Shaft Type
K: KeyType ©
D: D-CutType o
S: Round Type ©
Frame Type
B: BoxType [
Gear Type F: Flange Type 7 ;
G: General Gear (permissible torque: 100Kgfcm)
owerful Gear (permissible torque: 200Kgfcm)
H: High Powerful Gear (permissible torque: 300Kgfcm)

Frame Size

060mm sq. (2.36in.sq.) (BW)

© O70mm sq (2.76in.sq.) (6~15W)

: 080mm sq.(3.15 in.sq.) (15~25W)
: 090mm sq. (3.54 in.sq.) (40~200W)

©@eN®

Worm Gearhead

| R: Right
9 WD 3B L "
Direction of Output
L Left
R: Right
L/R: Bi-directional
Brand  Gear Ratio *No mark in Worm
D: DKM (30 :1/30) Hollow Type
Geaarhead Type Bearing Type
W: Worm Solid Type (6~60W) B: Ball Bear
WH: Worm Hollow Type (60~200W)  “No mark in Wonn Hollow Type
Frame Size
8 080mm sq. (3.15in.sq.) (15~25W)
9: 090mm sq. (3. .5q.) (40~200W)

X10 Inter-Decimal Gearhead

9 X D10OMH

Attaching Gearhead
Metal Bearing G: General (Helical)
P: Powerful Gearhead

Ratio
. H: High Powerful Gearhead
Brang  (10:1/10) W: Worm Solid Type Gearhead
D: DKM WH: Worm Hollow Type Gearhead

X10 Inter-Decimal Gearhead

Frame Size *Incass of p gear o that camnt bo genarad
8 080MM sq. (3.5 in.sq.) (15-25W) e oo e 0 s e o
9: O90mm sq. (3.54 in.sq.) (40~200W) muwmpuubemmtmmmuumw

speed will reduce by 10:1 without torque Increasing.

9



2. Check List of Product Receiving

2.1 Confirmation products

Make sure that you have received all of the items listed below.
If there is any shortage or any damages, please contact the
sales department or local agent.

- Gearhead 1 pcs.
- Mounting bolts, nuts, spring washers each 4 pcs.
- Straight key (only for key-hole shaft type) 1 pcs.
- This user’s manual 1 pcs.

2.2 Confirmation of model name
Check the model name refers to ‘1. Product Coding System’
and contact to your purchasing place if there is any difference.

2.3 Mounting bolt size

Frame size Ratio Name*Length(mm)
60mm 6GBD3MH~250MH 3~250 M4*60
70mm 7GBD3BMH~18BMH 3~18 M5*50

7GBD25BMH~180BMH | 25~180 M5*60
8GBK3BMH~18BMH 3~18 M5*50
80mm 8GBK25BMH~360BMH | 25~360 M5*60
8XD10Mo 10 M5*90
9GBK2BMH~15BMH 2~15 M6*65
9GBK18BMH~180BMH | 18~180 M6*80
9PBK2BH~180BH 2~180 M6*90
90mm 9PFK2BH~180BH 2~180 M6*25
9HBK3BH~180BH 3~180 M6*30
9HFK3BH~180BH 3~180 M6*30

9XD10Mn 10 M6*90, M6*120

10



3. Caution Point in Operation

3.1 Condition of using

- Ambient temperature on -10 ~+40°C (14 ~104°F), humidity max. 85%
- Avoid the place has a lot amount of straight sunlight, water and oil.
- Avoid the place has amount of dusty, inflammable gas or corrosive

gas.

3.2 Overhung load and thrust load

GEAR
HEAD

THRUST LOAD
-

OVERHUNG LOAD

(Figure 3-1)

BELT

UNIVERSAL
JOINT

GEAR
HEAD

- Permissible overhung load and permissible thrust load

Max. Permissible

Torque

Overhung

Load

Thrust
Load

N.m Kgfcm N Kg N Kg

6GBDoMH 3-18 3 30 50 5 30 3
20~250 120 12

7GBDcBMH 3~18 5 50 80 8 40 4
25~180 150 15

8GBKBMH 3~18 8 80 100 10 50 5
25~360 200 20

9GBKoBMH 2~18 10 100 250 25 100 10
25-180 300 30

9PBKoBH 2-9 20 200 400 40 150 | 15
9PFKrBH 12.5~20 450 45
25~180 500 50

9HBKoBH 3~180 30 300 400 40 150 15

9HFKnBH

8WDCBL(R) 10~18 6 60 80 8 100 | 10
25~60 150 15

9WDcBL(R) 10~18 8 80 200 20 200 20
25~60 250 25

9WHDn 7.5~80 40 400 500" 50" 250 25




3. Caution Point in Operation

* Overhung load values for hollow shaft models are measured at
10mm distances from the flange mounting surface.

- Overhung load values are measured at 10mm distances from
shaft end.

- Do not exceed the torque of overhung load and thrust load
at the same time in case of uses of helical gear or worm gear is
employed as transmission equipments.

- Also, place the load to close in gearhead in case of connecting
the load to output shaft directly to avoid to loaded in one side.
Install the structure as (Figure 3-1) in case of overhung load is
over the torque in chart.

3.3 Max. permissible torque of gearhead

Permissible torque is limited by material although the output
torque of the gearhead is in proportion of gear ratio. It calls max.
permissible torque and determined by size of gearhead and gear
ratio.

[Ib-in] | [N/m] | [kefem]
2651 301 300 I 9HBKLIBH

9HF KCIBH

221 25 250
l 9PBKIBH

1774 20 200 9PFKCIBH

132 4 154 150

sd 104 100 9GBKCB(M)H
_~ 8GBKCIB(M)H
wl 5] s /, 7GBDCIB(M)H
ol ol o
50 100 150 200 250

12



4. Installation of Products and Assembly

4.1 Motor assembly with gearhead

Box Type Flange Type
Gearhead Gearhead

OUTPUT SHAFT OUTPUT SHAFT
GEARHEAD

GEARHEAD

1) Place motor to output shaft directs to up. Choose direction of
gearhead with considering direction of out-coming lead wire.

2) Needs to be careful between motor shaft and gear trails of
inside gearbox during mounting. Turning right and left slightly to
do not crush hardly and make easy of assembling.

3) Use the provided mounting screws for set mounting of gearhead
& motor.

Caution) Gears in gearhead can get damage, like scratches of
chopping during assembling motor and gearhead if forced to be
assembled. Then it can be caused abnormal noise or shorter life
of gearhead.

4.2 Precaution of assembly

- Make holes in mounting plate and use bolts, provided with
gearhead to fix a motor and gearhead on the mounting plate.
Also, be sure there is no-gab between motor flange, gearhead
surface and the mounting surface.

- Use provided bolts to assemble gearhead & motor sets.
Use mounting plate max. 5mm thickness to conclude assembly
properly.



4. Installation of Products and Assembly

Recommended screw-in torque for mounting bolts

Frame Size Screw Type Recommended Torque
for Scew-in
60mm M4 2.0N.m (20kgfcm)
70mm M5 2.5N.m (25kgfcm)
80mm M5 2.5N.m (25kgfcm)
90mm M6 3.0N.m (30kgfcm)

4.3 Assembly components of transmission

BOLTS FOR FIXING

TRANSMISSION
COMPONENTS

- There are Key type and D-Cut

type output shafts of gearhead for
assemble with transmission
components which has outer
diameter tolerance h7.

- In case of using D-Cut type shaft,

fix the bolt properly on D-Cut
shaft to do not slip.

- In case of using Key type shaft, fix the key on transmission
equipments such as chain pulley and sprocket.

TRANSMISSION

COMPONENTS

\ GEAR
E L] HEAD
TRANSMISSION

BOLT
KEY

COMPONENTS

Caution) Do not impact on shaft during fixing the transmission
components. It can be caused damage of shorter life on gearheads.

14



5. Troubleshooting

In case of abnormal operation of motor and gearhead, please
refer to below table and make inspection. If motor doesn’t
operate normally even inspection result is normality even after
checking, do not repair voluntarily or disassemble motor but
contact DKM head office or local agent. Please be noted that
for the problem caused by user’s voluntary repair of disassembly,
DKM doesn’t take responsibility and A/S may be impossible.

PHENOMENON CHECKING POINT

) Is proper voltage applied to the motor?
) Are lead wires connected correctly?

) Is the load too large?

4) Is capacitor connected as diagram
and same value as written on label?

Output shaft does not 1
rotate or runs slow. 2)
3

Sounds abnormal noise 1) Are motor and gearhead mounted
correctly?
2) Did you use same type of gearhead
shaft as motor shaft?

Output shaft stops 1) Is the motor TP(Thermal Protector) type?
suddenly. 2) Did transmission components get
damaged or did not connect properly?
3) Does motor or gearhead end the life
expectation?
4) Does output shaft break down?
5) Gears can get damaged if only motor
runs. (If so, it may over loaded, please
check permissible torque refer to ‘3.3
Permissible Torque of Gearhead.)



6. Formalities of A/S

Damages / Complaints

‘ 4 ’
Receipt of i :./'-

Damages
or Complaints

A/S
Completion

Request

of A/S
.%0 DKM Factory
A/S
Completion

Domestic, Overseas Agent

Note: DKM decides whether it should be divided to free exchange
or compensated A/S after defining whether it is caused by user’s
fault or manufacturer’s fault by strict inspection rule.

Agents Information
Please visit our website: www.dkmmotor.com

* For the dimension data and more information, please visit
our website and download them.

Please be informed that the specification and dimension data
could be changed without information for product improvement.

DKM Motor Co., Ltd.

Head office/Factory: 4F,, Incheon Techpia Na-Bldg., 223-38,
Seoknam2-dong, Seo-gu, Incheon, Korea 404-825

Tel. +82-32-574-7788 Fax. +82-32-578-7787
www.dkmmotor.com

16



www.dkmmotor.com

DKM Motor Co., Ltd.

SA/SE: ATZAA M7 MEH2S
223-38 QIME|Rmot LtE 45

(S 404-825)

Tel. 032-574-7788

Fax. 032-578-7787

DKM Motor Co., Ltd.
Head office/Factory: 4F,,
Incheon Techpia Na-Bldg.,
223-38, Seoknam2-dong,
Seo-gu, Incheon,

Korea 404-825

Tel. +82-32-574-7788
Fax. +82-32-578-7787



